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Run 6237 quartetwise, Asyms0 (Raw): All
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Run 6237 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 6237 quartetwise, Asyms0 (Raw): Beam OFF
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Run 6237 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 6237 quartetwise, Difts0: All

guartetwise diff0
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Run 6237 quartetwise, Diffs0: Beam ON, Laser ON
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Run 6237 quartetwise, Diffs0: Beam OFF
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Run 6237 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 6237 quartetwise, NegHelAccO/NSamples0:

All
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Run 6237 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 6237 quartetwise, NegHelAcc0/NSamples(: Beam OFF
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Run B237 quartetwise, NegHselAccl/NSamples: Beam ON, Laser OFF
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Run 6237 quartetwise, PosHelAccO/NSamplesC: All
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Run 6237 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 6237 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 6237 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 6237 quartetwise, Sums0: All
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Run 6237 quartetwise, Sums0: Beam ON, Laser ON
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Run 6237 quartetwise, Sums0: Beam OFF
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Run 6237 quartetwise, Sums(: Beam ON, Laser OFF
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